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SARDAR PATEL UNIVERSITY
B.Com.(SEM-I} - EXAMINATION
Saturday,24 ™ September, 2022
09.30 AM. TO 11.30 AM.
UBO1CCOMO5 — Business Mathematics-I

_ Total Marks: 60
Note:  All Questions carry equal marks.

Attempt any four questions frorh thefollowz’ng.
Q:01(A) Explain properties of determinants.
Q:01(B) It U={1,23...10}, A={1,2,4,6,8}, B={2,3,6,7,9} then Verify that

(i) (AUBY = A"/ B' (if) (ANB)' =A'U B!

Q:02(A) 3 x -8 A
If |5 —2 =3{=0, then find the value of x.
1 -3 2 '

Q:02(B) Define the following sets
(1) Union of two sets (II) Empty set (III) Power set (IV) Singleton set
Q:03(A)  Define the following Matrices

(I) Transpose of Matrix (II} Zero Matrix (III) Square Matrix (IV) Unit Matrix

Q:03(B) 4 1 3] 2 -1 0 -
IfA=12 0 5| and B=|0 4 3|then prove that (AB)" =B"A”
1 3 0 2 1 5
Q:04(A) 2 1 -1
IfA=|1 0 -1|then find inverse of A,
i1 1 2 -

Q:04(B) Solve the following equations using inverse matrix method.

3-2y+7 =2, x+3y-2z=2 and 2x-y+z=2.

Q:05(A) Write rules of Limit,
Q:05(B) Evaluate the following.

lim x4 5 lim x*-4 lim Jx-2
(I) ‘x =1 x%+3x+2 () x—=2 x-2 (IH) XxX—>4 x-4
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Q:06(A)

Q:06(B)

Q:07(A)

Q:07(B)

Q:08(A)
Q:08(B)

Define Limit with example.

Evaluate the following.

lim
x =4 x? - 2x-8

x2+ 1
x2+2x+5

lim
x—{

) oy

Define the following terms.

x?—3x — 4

lim x-9
-9 Vx -3

(11T

(I) Simple Interest (1I) Compound Interest (III) Sinking Fund

Pinki deposited [1. 15000 in a bank-at 11 % rate of compound interest. What

amount will he receive at the end of 5 years ?

If Rs. 50000 amounts of Rs. 100568 after 5 years, find the compound rate of

interest.

Kamal Ltd. Purchased a machine for Rs. 5,00,000. Its expected life is 12 years.

After that period a new machine will cost 60 % more. In order to provide for
this, it was decided to- create a sinking fund. On every 31" December a sum
was to be invested at 14 % rate of compound interest. find out this sum,
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